M5300&%!
T ENIFEES

S

BT 4RisN

« —AENBIR, Tt
. AP

« I HIEERIRIP

* JFLMAEERNIL£0.25%
s ZERBERILE1%

o BRIEIRE

« -40°C..+125°CT{EIREE
.« 0°C..+70°C }MEERE

tREEDNRIE
E1SEBE(ps)  EJI5BE(Bar)
0...100 0.7
0...150 0..10
0...250 0..16
0...500 0..35
0...1000 0..70
0...1500 0...100
0...2250 0...150
0...3000 0...200
0...5000 0...350
0...7500 0...500
0...10000 0...700
0...15000 0...1000
0...22000 0...1500
0 ... 36500 0...2500

& HehAEEaEH. SEEnENT"eS",

s

- SRR

- BIERE

- BREDZORBLED
* [EfEHiE

* CERBA7K3SE

< RE, EAFEEN

- B

v

o TAkES b ReAa
- BRAIRETERR
* BISHRSE

- BaillidFa

o BEFIEIR

- Bapid¥Fa

< BRIE/SENERSE

- BERERER

EiE BE

Ak

@S
@S
@S
@S
@S

@S
@S
@S

Force | Pressure | Temperature | LVDT | Switch




M5300&%!
. SZ3D \
Etﬁ ﬁ# | Sensa Technology Ij_liJ:TEjj Qj\i%

TERERIE

NERE 25°CRIFEBIER).

Eo | =) BARIE =X =213 &iE
BE(EIEIEEM, 1BE, EfE) -0.3 +0.25 0.3 %F.S.BFSL @ 25°C
FRIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
HEFIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
BBE (FSEAENTI) 100 MQ @ 250VDC
ELERED 1X107 0~FS Cycles

TEES 3X 20k psi Rated

TR ES 5X 20K psi Rated

KHRRRE M (HF) -0.25 0.25 %F.S

FERE 15 +1.0 15 %F.S IMEERESEER
MERESTE 0 70 I

TIERESEE -40 125 °C E#ARIN, BRE5105°C
EFRECE -40 125 °C EB#AFRIL, BRE5105°C
thEk (RL) RL > 100k Q FH R

?# (RL) < (tEBERJE -9V) / 0.02A Q BT

TR TS 10 mA FEBEHH

M RZATIE) (10%ZE90%) <2ms (FBEEHI) ; <3ms (EBAEH); ToER

fE L 17-4PH+SST304 & &{#17-4PH

pk 50g, 11msec Half Sine Shock per MIL-STD-202G, Method 213B, Condition A

B +20g, MIL-STD-810C, Procedure 514.2-2, Curve L

BT WTEEXESR, &I .
/NFO0..70BarEfRIR R, EFERRESELILIEERS.

#=/iE:

HMERE: FREENEESEORELIEEEE, FHMAHEENMESEEN.

TIERE: FREENEHSEARELIEETEE, B FRENEMRSEEN.

BERE: FREEENSRERANER T URSMEEHAIFEMRANRETE. BHIEE ERE R RE X RISk A MR,
FrEEc B4R A HRIRE ER M RS,

CEFH

Force | Pressure | Temperature | LVDT | Switch



B - FiE | 323D

R~ [mm]

COMMECTOR

SENSOR

PRESSURE PORT

oIMC”

L~

I

—

M5300&%)
T EDIDEES
wmS AR RYC (&X)
1 FBARLL 1.97 [50.0]
2 TH5E A JERES 2.10 [53.5]
3 IH5S B EiEzEs 2.10 [53.5]
4 M12EEs88 1.71[43,5]
5 KifErE FORM A 1.93 [49.0]
6 INFFERE FORM C 1.97 [50.0]
8 ZEIERESE AMP 2.52 [64.0]
e EHEO%ER
= B0 RYA | RJB
1 G1/4 JIS B2351 0.472[12.00]| 0.3[8.0]
2 | M20x1.5mmISO 61492 | 0.661[16.8] | 0.3[8.0]
3 1/4-18 NPT 0.600 [15.24]| 0.3[8.0]
7/16-20UNF FEMALE SAE J513
4 STRAIGHT THREAD WITH 0.687[17.5] 0.3[8.0]
INTEGRAL VALVE DEPRESSOR
5 | M14x1.5mm IS0 6149-2 | 0.433[11.0] | 0.3[8.0]
6 1/8-27 NPT 0.390[9.91] | 0.3[8.0]
7 | M12x1.5mm S0 6149-2 | 0.433[11.0] | 0.3[8.0]
8 | M10x1.0 mm ISO 6149-2 | 0.374[9.5] 0.3 [8.0]
o | ctelnmszronie Josizson| osmo
BH7KER
PHIRELR
wms ISR Fh
1 =2pEs IP67
2 Az A &E$288 IP66
3 A5 B ERERS IP66
4 M12iEsE8 P67
5 XiFEFE FORM A IP65
6 /NEFEFE FORM C IP66
8 L ERESE AMP IP66
&t wESFLENTXEEIKERIPES,
e Tfaw
= i it
0.5-4.5V 5+ 0.25V
1 Eb g 16V E{FIF
2 1-5V 8- 36V
3 4 - 20mA 9-36V
4 0-5V 8- 36V
5 0-10V 13- 36V
6 1-6V 8- 36V
7 0.5-4.5V 7.5- 36V

Force | Pressure | Temperature | LVDT | Switch




M5300F7%!
. 23D R
Etﬁ ﬁ# | Sensa Technology IﬂEjjgla_é%%
HEENX
HiiniEsE
IS {Hea+ i+ = BSA
FadnL q 2] B (%) BSAAEINELE
TAsEAIEREES A B C
e BiERL RS B A C
M12i%E$228 1 2 34
T
B FORM A p 5 34 BSAEEESELE
IINFFERE FORM C 1 2 34
LiEiEEEE AMP 1 3 2
HBEMEES
IS e+ e+ oy = BSA
Fa4nL I =| 2z 53 BSAEINELE
TATEAIEREES A C B =
TH5e BiERL RS B C A -
M12i%E$228 1 3 2 4
T
B FORM A ] 3 5 2 BRAEEESLE
IINFFERE FORM C 1 3 2 4
LEIEEESE AMP 1 3 2 7c
EIEES
EEIRERARY
IR iR B &ERES SinFHE
s 4-WIRE,22 AWG,
FEsiL, JER L, PVC,105°C ) )
IHoeIEEEEs 3-PIN METRI-PACK 150 12078090 12103881, QTY 3
M12iEHE28 BINDER SERIES 713, 4-POS FEMALE;&E$258 -

09 3431 77 04 OR EQUIV

K& FORM A

OMAL ARBO3S or ARBO3R

OMAL AHBG6733 3+PE

INERE FORM C

INDUSTRIAL STANDARD
8.0MM FORM C

HTP AHB6733 3+PE

TEERZRR AMP

174357-2 & 174358-7

171630-1 (AWG 20~24)
171662-1 (AWG 16~20) QTY 3

X EE NEERENENTERFTEASEENMNASHTES, TEELEER/BRAMRISHSEE, S9M5 ERESTRTK.
B S LTSI RIERRNKEFRS9IP6S,

Force | Pressure | Temperature | LVDT | Switch




M5300&%!

. SZ3D -
5% ﬁ# Sensa Technology IﬂEjj Q]\i%%
» =
ITBER
M53 3 5 1 0 1 9 500P G
Bs Lk TR EHEOE ] e EHiEn EEE ENgE
M53 [ 120545V 1= eBgg 1= 4951304 0= FhEf2 0= FHRE(OEM) [ 1= G1/4 JIS B2351 0...500psi G=%F
HBR | 2= g A awRaen |- | 1= ATREE | 2N B= Bar S= EHE
2=1-5V 3= 1 B 2= BAK17-4PH =B | 4= 7/16-20UNF FEMALE M= Mpa (>500PSI)
3= 4-20mA 4= M12 X= EPES SAE P= PSI c-E58F
4=0-5V 5= FORM A 5=M14x1.5 K= Kpa
5=0-10V 6= FORM C 6= 1/8-27 NPT
6= 1-6V 8= AMP 7=M12x1.5
720545V |y e 8=M10x1.0
X= 22zt E 9= G1/4 DIN 3852

A= G3/8 JIS B2351
X=EFRER

BT AL EEMNERRER, BERI .

Force | Pressure | Temperature | LVDT | Switch




